

www.gfbdairy.eu

Grill Cheese جبن شواء















About us

GFB Dairy Company was established in 2019 at Warsaw, Poland.

GFB Dairy, is the largest and the most modern Grill Cheese producer in Europe at the province Zamość. The company, preserving the genuineness of each product, over this time has offered products of high nutritional value and quality which are always based on the international quality standards.

The quality of the products are internationally recognised with the company actively exporting in more than 21 European countries, Middle East and UK,

GFB is the largest producer and exporter company of the grill cheese industry in Poland.

Apart from being one of the most powerful exporter of grill cheese GFB has managed to produce Private label products to the local market of Poland.

GFB Launched Grill cheese to Polish market very recently and within a year GFB reached 90% of the market and achieved to sell 120 tons per month.

Main key accounts are Carrefour, Tesco, Auchan, Kaufland and Biedronka.

This figure gives us the direction for promoting our Grill Cheese for the new markets in and out of EU.

The significant recent changes in the short history of the company are about important launches which have admittedly changed the consumer-relationship with the product.

It is regarding the product Grill Cheese Bites (Pop Corn) and Grill Cheese chips, as well as innovations in product categories such as low fat Grill Cheese.

In addition, the company has become more innovative in regards to interactive communication with the clients and consumer, but also in general with its unique way of communication.

GFB Diary was created through the joint venture with OSM Krasnystaw who is the one of the largest dairy Cooperative of Poland, in 2020.

Dengiz Pinar, founder and the chairman of the company and Chairman of the Board of Directors of Biray Food Marketing Company, is from Cyprus, the home of Halloumi.

With the experience of Mr. Pinar's more than 26 years in the retail, dairy and dairy products industry from manufacturing to marketing in Turkey,
and has become the leading PL producer in many domestic markets and brands, particularly Halloumi cheese, grilled cheese and
Kashkaval cheese in Turkey. The company has 90% dominance in the sales of halloumi cheese imported from Cyprus in the Turkish market.

Our mission

GFB Dairy Products aims to become the best PL producer company with its network service experience and the investment which has made in the European industry for 12 months and by generating the best quality Grill Cheese products, for all clients around the world.

Working to maximize customer satisfaction with quality, delicious, healthy, and innovative goods by ensuring the continuity of production and producing better every day,

In the short period of time since its establishment, GFB has started to be mentioned with the delicious and high-quality products both in England (which is the largest market of the sector) and other European Union countries and succeed to take over the leadership of the sector.

With its innovative product development skills and experience, apart from conventional products it brought new innovation to the market and offered Grill Cheese Fries, Grill Cheese Burger, Grill Cheese Bites (Pop Corn) and Grill Cheese Chips products to its customers and brought this new flavour to consumers.

Grill Cheese

Grill Cheese offers the perfect taste for your meals fried or grilled at a high melting point, while maintaining its traditional folded shape. The Grill Cheese as a product has a much wider variety of consumption than the similar cheeses. Grill Cheese is very healthy and has a good source of calcium. Because the carbohydrate percentage is so low, you can break normal dietary habits by generating distinct flavors in a low-carb diet.

We offer to our clients Grill Cheese Fries that are sliced into sticks and packaged fresh, and Grill Cheese Nuggets or bites that we have prepared in cubes, with our outstanding varieties which are natural, mint and spicy to your tables. In general, our Grill Cheese Burger is preferred by our vegetarian customers.

This product provides a uniquely innovative flavor in industrial and fast-food chain kitchens.

With this product, which has a strong dietary value, you can keep your kids away from the harmful products of the fast-food industry and thus satisfy their protein needs. You can also generate a different range of flavors in your kitchen.

This delicious product, which you can eat at breakfast grilled or pan-fried also can be grated over pasta, meat products and a variety of soups to generate fresh flavors on your tables.





Grill Cheese has got a very high melting point. It can therefore be easily consumed by barbecuing or by frying or grilled. With our product Grill Cheese, we offer our clients alternatives of flavors as natural, mint and spicy choices.

The Grill Cheese product was produced with microbiological cheese yeast and no acidic or acid-producing bacteria were used it preparing.

ı.	Average		Fat	Saturated fat	Carbo- hydrate		Protein	Salt	
	Nutritio Values	1380 / 332	26 Grams	17 Grams	0,56 Grams	0,56 Grams		3,5 Grams	

BARKOD	PRODUCT NAME	TYPE	PRODUCT WEIGHT	PACKAGE TYPE	INSIDE PARCEL	PARCEL /KG	STANDARD PALETTE QUANTITY	Kg in Palette	Palette Size	
5907753180711	GFB GRILL CHEESE	NATURAL	100	FOIL-LABEL	24-72	2,4 KG -7,2 KG	100 - 240	240 KG	80*120	
5907753181657	GFB GRILL CHEESE	NATURAL	2x100	FOIL-BOX	10	2,4 KG	240	480 KG	80*120	
5907753180735	GFB GRILL CHEESE	NATURAL	200	FOIL-BOX	10-15-36-50	7,2 KG-10 KG	100 - 240	720 KG	80*120	
5907753180759	GFB GRILL CHEESE	NATURAL	250	FOIL-BOX	10-12-36-40	7,2 KG-10 KG	100 - 240	720 KG	80*120	
5907753180766	GFB GRILL CHEESE	NATURAL	500	FOIL-LABEL	16	8 KG	100	800 KG	80*120	
5907753180780	GFB GRILL CHEESE	NATURAL	1000	FOIL-LABEL	8	8 KG	100	800 KG	80*120	
									The state of the s	0



www.gfbdairy.eu



Grill Cheese Mint جبن شواء نعناع





FRY IN



Grill Cheese has got a very high melting point. It can therefore be easily consumed by barbecuing or by frying or grilled. With our product Grill Cheese, we offer our clients alternatives of flavors as natural, mint and spicy choices.

The Grill Cheese product was produced with microbiological cheese yeast and no acidic or acid-producing bacteria were used its

Average	Energy	Fat	Saturated fat	Carbo- hydrate		Protein	Salt
Nutritio Values	380 / 332 kcal	26 Grams	17 Grams	0,56 Grams	0,56 Grams		3,5 Grams

BARKOD	PRODUCT NAME	TYPE	PRODUCT WEIGHT	PACKAGE TYPE	INSIDE PARCEL	PARCEL /KG	STANDARD PALETTE QUANTITY	Kg in Palette	Palette Size	GFB
5907753180711	GFB GRILL CHEESE	NATURAL	100	FOIL-LABEL	24-72	2,4 KG -7,2 KG	100 - 240	240 KG	80*120	
5907753181657	GFB GRILL CHEESE	NATURAL	2x100	FOIL-BOX	10	2,4 KG	240	480 KG	80*120	GRILL
5907753180735	GFB GRILL CHEESE	NATURAL	200	FOIL-BOX	10-15-36-50	7,2 KG-10 KG	100 - 240	720 KG	80*120	(MATERIAL STATE OF THE STATE OF
5907753180759	GFB GRILL CHEESE	NATURAL	250	FOIL-BOX	10-12-36-40	7,2 KG-10 KG	100 - 240	720 KG	80*120	MINT
5907753180766	GFB GRILL CHEESE	NATURAL	500	FOIL-LABEL	16	8 KG	100	800 KG	80*120	200
5907753180780	GFB GRILL CHEESE	NATURAL	1000	FOIL-LABEL	8	8 KG	100	800 KG	80*120	Programme Company
										To the second se



Grill Cheese has got a very high melting point. It can therefore be easily consumed by barbecuing or by frying or grilled. With our product Grill Cheese, we offer our clients alternatives of flavors as natural, mint and spicy choices.

The Grill Cheese product was produced with microbiological cheese yeast and no acidic or acid-producing bacteria were used in preparing.

Average		Fat	Saturated fat	Carbo- hydrate		Protein	Salt
Nutrition Values	1380 / 332	26 Grams	17 Grams	0,56 Grams	0,56 Grams	24 Grams	3,5 Grams

BARKOD	PRODUCT NAME	TYPE	PRODUCT WEIGHT	PACKAGE TYPE	INSIDE PARCEL	PARCEL /KG	STANDARD PALETTE QUANTITY	TOTAL PALETTE /KG	ORDER QUANTITY /PCS
5907753182104	GFB GRILL CHEESE BITES (POP CORN)	Natural	180	FOIL-LABEL	10-36	1,80 KG-6,48	240-100	432 - 648	80*120
5907753182111	GFB GRILL CHEESE BITES (POP CORN)	Natural	500	FOIL-LABEL	8	4 KG	100	400	80*120
5907753182128	GFB GRILL CHEESE BITES (POP CORN)	Natural	700	FOIL-LABEL	8	5,6 KG	100	560	80*120





Grill Cheese has got a very high melting point. It can therefore be easily consumed by barbecuing or by frying or grilled With our product Grill Cheese, we offer our clients alternatives of flavors as natural, mint and spicy choices.

The Grill Cheese product was produced with microbiological cheese yeast and no acidic or acid-producing bacteria were used its preparing.

ed.	Average		Fat	Saturated fat	Carbo- hydrate	Sugar	Protein	Salt
er	Nutritio Values	1380 / 332	26 Grams	17 Grams	0,56 Grams	0,56 Grams	24 Grams	3,5 Grams

BARKOD	PRODUCT NAME	TYPE	PRODUCT WEIGHT	PACKAGE TYPE	INSIDE PARCEL	PARCEL /KG	STANDARD PALETTE QUANTITY	TOTAL PALETTE /KG	ORDER QUANTITY /PCS
5907753181213	GFB GRILL CHEESE FRIES	NATURAL	185	FOIL	16-36	3 KG-6,66 KG	216-90	640-600 KG	80*120
5907753180193	GFB GRILL CHEESE FRIES	NATURAL	185	вох	10	1,85 KG	240	444 KG	80*120
5907753181190	GFB GRILL CHEESE FRIES	PANE	185	вох	10	1,85 KG	240	444 KG	80*120
5907753181152	GFB GRILL CHEESE FRIES	PANE MINT	185	вох	10	1,85 KG	240	444 KG	80*120
5907753181169	GFB GRILL CHEESE FRIES	PANE CHILLI	185	вох	10	1,85 KG	240	444 KG	80*120
5907753180230	GFB GRILL CHEESE FRIES	NATURAL	500	LABEL	16	8 KG	80	640 KG	80*120
5907753181503	GFB GRILL CHEESE FRIES	NATURAL	750	FOIL-LABEL	8	6 KG	100	600 KG	80*120
5907753180247	GFB GRILL CHEESE FRIES	NATURAL	1000	FOIL-LABEL	8	8 KG	80	640 KG	80*120
5907753180254	GFB GRILL CHEESE FRIES	NATURAL	2500	BAG	4	10 KG	65	650 KG	80*120
5907753180261	GFB GRILL CHEESE FRIES	NATURAL	5000	BAG	2	10 KG	65	650 KG	80*120





Grill Cheese has got a very high melting point. It can therefore be easily consumed by barbecuing or by frying or grilled. With our product Grill Cheese, we offer our clients alternatives of flavors as natural, mint and spicy choices.

The Grill Cheese product was produced with microbiological cheese yeast and no acidic or acid-producing bacteria were used preparing.

Average		Fat	Saturated fat	Carbo- hydrate		Protein	Salt
Nutrition Values	1380 / 332	26 Grams	17 Grams	0,56 Grams	0,56 Grams		3,5 Grams

BARKOD	PRODUCT NAME	TYPE	PRODUCT WEIGHT	PACKAGE TYPE	INSIDE PARCEL	PARCEL /KG	STANDARD PALETTE QUANTITY		ORDER QUANTITY /PCS
5907753180278	GFB GRILL CHEESE BURGER	Natural	200	FOIL-BOX	10-32	2 KG-6,4 KG	240-100	480-640	80*120
5907753180285	GFB GRILL CHEESE BURGER	Natural	250	FOIL-BOX	32	8KG	100	800	80*120
5907753181565	GFB GRILL CHEESE BURGER	Natural	1000	FOIL-BOX	8	8KG	100	800	80*120





Poland – Warsaw GFB Dairy products Sp. z o.o. Al. Jana Pawła 61/39, 01-031, Warsaw, Poland Phone: +48 22 592 17 18 Mail: info.pl@gfbdairy.eu Web: www.gfbdairy.eu

Poland – Zamość Okręgowa Spółdzielnia Mleczarska w Krasnymstawie, Zakład Produkcyjny w Zamościu, ul. Kilińskiego 81, 22–400 Zamość, Poland Phone: +48 84 639 34 86